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(1) a—7=-16 (2) 2 —8=—6
3) z+1=09 (4) z—4=4
(5) 2 —2=—6 (6) =+ 6 =12
() z—2=7 ) z—1=7
(9) 6y = 42 (10) 22 =8
(11) =Tm =7 (12) 9z = —9
(13) Tm =63 (14) 3z =21
(15) 5n = —45 (16) 3m = —27
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(1) a—7=-16
a=-—9

3) z+1=9
r =

(5) 2 —2=—6
r = —4

(7)) x—2=T7
r =

(9) 6y =42
y==1

(11) =Tm =7
m = —1

(13) 7m = 63
m=9

(15) 5n = —45

n=—9

(2) 2 —8=—6

(4) z—4=4

€xr =

(6) v+6 =12

xr =0

8) x—1=7
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(1) z—4=4
(3) —6=—7
(5) z+5=8
(1) o —7=—-7
(9) 5z =10
(11) 8z =0
(13) 2y = —16

(15) —8y = —64

(6) 2—9=-3

(8) v+2=28

(10) 3m =0

(12) bz = —45

(14) —6n = 36

(16) —6z = —30
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(1) x—4=14

r—=2_8

(3) x—6=-T

rx=—1

(5) +5=28

xr=3

(2) m—9=-2

m =

(4) x—2=

€xr =

(6) 2—9=-3

r =0

(8) v+2=28

xr =06

(10) 3m =0

m =

(12) bz = —45

r = —9

(14) —6n = 36

n = —6

(16) —6z = —30

€Tr —
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ROFERLRE RSN,

(1) 2 —9=—16 2) a—1=

3) n—9= (4) y+1=10

(5) y+2=10 (6) n+2=—5

(7) a+3=—-3 (8) 2 —6=—T

(9) =7z =0 (10) 6m =6
(11) —3y = 18 (12) —6a = —36
(13) =5z = 30 (14) —n =0
(15) —6z = 36 (16) 6z = —48
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ROFGREXEIRE R E 0,
(1) x—9=-16
r = -7
(3) n—9=
n =
(5) y+2=10
y=238
(7) a+3=-3
a= —06
(9) =Tz =0
r =
(11) —3y = 18
y=—6
(13) =5z = 30
r = —6
(15) —6z = 36

r = —06

(2) a—1=

a —

(4) y+1=10

y:

(6) n+2=-5

n=-—7

(10) 6m =6

m =

(12) —6a = —36

a =

(14) —n =0
n=20

(16) 6z = —48
r = —8
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1) y—1=—-10

(3) x -3 =

(5) m—5=—8

(7) x—5=-13

(9) 8y = —64

(11) —6n = —36

(13) —9a = 18

(15) by =5

(2) y—9=—17
4) y+8=1
(6) 2 +9=

(8) n—3=2
(10) 9n = —18
(12) 5z = 30

(14) —4n = —16

(16) —7z = —14
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WO FFRREEE 72 I,
(1) y—1=-10
y=-9
(3) -3 =
r =
(5) m—5=—8
m = —3
(7) x—5=-13
r—= —8
(9) 8y = —64
y=—8

(11) —6n = —36

n =

(13) —9a = 18

a= —2

(15) by =5

(4) y+8=1

y=—7

(6) x+9 =

x =0

8) n—3=2

(14) —4n = —16

n —

(16) —7z = —14

€Tr —
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ROFREREME RS0,

(1) m—3=—2 (2) z—7=
(3) v+3=-2 (4) a+3=11
(5) n—2=—7 (6) y—8=0
(7) a+4=—1 (8) m—1=38
(9) 9a = —63 (10) 62 = —54
(11) 22 =6 (12) —6a =0
(13) —9m =172 (14) 2a = 10
(15) —6z = 12 (16) —5a = 35
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(1) m—3=-2
m=1
(3) v+3=-2

r = —5
(5) n—2=-7
n = —5
(7) a+4=-1
a—= -—5>
(9) 9a = —63
a=—7
(11) 22 =6
€Tr —
(13) —9m = 72
m = —8
(15) —6x = 12
r = —2

(2) z—-7=
€XTr —
(4) a+3=11
a =
(6) y—8=0
y=238
(8) m—1=28
m =
(10) 6z = —54
xr = —9
(12) —6a =0
a =
(14) 2a = 10
a—=>5
(16) —ba = 35
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(1) n—2=-1

(3) +6=3

(5) a+6=—2

(7) 2—3=—-1

(9) —8y = —24

(11) 72 =0

(13) 3n =12

(15) 8z = 16

(2) 2+5=5
(4) a+6=-3
(6) y+4=-3

(8) xt—9=-17

(10) 7z = —35

(12) 3n =15

(14) —7y = —35

(16) —3y = —12
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(1) n—2=-1

n=1

3) x+6=3

r= —3

(5) a+6=-2

a—= —8

(2) x+5=5
€Xr =
(4) a+6=-3
a=—9
(6) y+4=-3
= —7

r = —8
(10) 7z = —35

r = —9>
(12) 3n =15

n —

(14) =7y = —35

y:

(16) —3y = —12

y:
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(1) z+1=-8

(3) y+8=17

(5) z—4=5

(7) m+6=11

(9) 8n =16

(11) 4a =8

(13) 22 =6

(15) 9a = —81

(2) z+5=-1

4) y+1=-1

(6) z—6=—10

&) m—2=3
(10) —8a = 40
(12) 72 =21
(14) 9n = 27

(16) 6y = —36
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ROFTREAZMRE IS0,

(1) z+1=-8

r = —9

(3) y+8=17

y:

(5) z—4=5

xr=9

(7) m+6=11

(2) z+5=-1
r = —6
4) y+1=-1
Yy = —2

(6) = —6 = —10

r = —4
(8) m—2=3
m =
(10) —8a = 40
a= —5
(12) 7z = 21
r —
(14) 9n = 27
n=3
(16) 6y = —36
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ROFTREAZMRE IS0,

(1) m+8=9

3) n+1=

(5) n—3=—7

(11) =2z =0

(13) —=3a=0

(15) —3a =18

(2) a+4=—-4

4) 2 +7=7

(6) z+2=0

(8) x+5=0

(10) =Tn =17

(12) =5y =20

(14) 6z = 36

(16) —9z = —27
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(1) m+8=9
m =1
B)n+1=2
n —
(5) n—3=—T7
n = —4
(7) x—6=-9
r—= —3
(9) 4z = —4
xr = —1
(11) =2z =0
xr —
(13) —=3a=0
a =
(15) —3a =18

a=—6

(2) a+4=—-4

a= —8

(4) z2+7=T7

€Xr —

(6) z+2=0

r=—2

(8) x+5=0

r = —9>

(10) =Tn =17

n=-—1

(12) =5y =0
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(1) z4+6=15 2) x —4=

(3) n—4=—6 (4) z4+7=11
(5) 2 —7=2 (6) n—8=—11
(7) 2—6=3 (8) n+9=14
(9) —y = —3 (10) —6z = 48
(11) —4z = —8 (12) —3m = —24
(13) 7z = —63 (14) 4y = —28

(15) 8a = —40 (16) 8z = —T72
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WD HRERE M E T X0,
(1) x+6=15
xr =9
3y n—4=-6
n = —2

(5) x—T7=2
x =9

(7) x—6=3
xr —

9) —y=-3
y=3

(11) —4z = -8
xr —

(13) 7z = —63
r—= —9

(15) 8a = —40

a= —5

(2) z—4=3
€XTr —
4) z+7=11
xr —

(6) n—8=—11

n=-—3
8) n+9=14

n =
(10) —6x = 48

r = —8

(12) —3m = —24

m =
(14) 4y = —28

y=—7
(16) 8z = —72

r = —9
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1) z—-1=-7
(3) n+1=-3

(5) xt—6=—-14

(My—1=8
(9) 9z = —45
(11) =5z = 35

(13) —6z = —12

(15) =5z =0

2) z—2=75
(4) 24+9=0
6) ©—1=-8
8) £ —3=0
(10) —7n =14
(12) 2n =10
(14) 4m = 32

(16) —6a = —48
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1) z—-1=-7
r = —0
(3) n+1=-3
n=—4

(5) xt—6=—-14

r = —8
(7) y—1=38
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(9) 9z = —45
r = —9>

(11) —52 =35
= -7

(13) —6z = —12

xr —

(15) =5z =0

€Tr —=

(2) x—2=5

€XTr —

(4) +9=0

xr=—9

(6) z —1=—8

r=—7T

(8) —3=0

rx =3

(10) —7n = 14

n—=-—2

(12) 2n =10

(14) 4m = 32

m —

(16) —6a = —48
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